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Index: 0, Unicode: Index: 1, Unicode: F042
Nodes: 1056, Contours: 27 Nodes: 461, Contours: 7

BBox: (0, 4) - (1997, 2201) BBox: (0, -4) - (3001, 1631)
LSB: 0, RSB: 41, Width: 2038 LSB: 0, RSB: 40, Width: 3041
Ish: 458, rsh: 502, width: 1078 Ish: 11086, rsh: 1152, width: 783

C

Index: 2, Unicode: F043
Nodes: 925, Contours: 75
BBox: (0, 3) - (2178, 2191)
LSB: 0, RSB: 40, Width: 2218
Ish: 317, rsb: 406, width: 1495
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Index: 3, Unicode: FO44
Nodes: 125, Contours: 2
BBox: (0, 2) - (1789, 2081)
LSB: 0, RSB: 40, Width: 1829
Isb: 559, rsb: 606, width: 664
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Index: 4, Unicode: F045
Nodes: 639, Contours: 23
BBox: (0, 0) - (2416, 1452)
LSB: 0, RSB: 40, Width: 2456
Ish: 0, rsh: 40, width: 2416
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Index: 5, Unicode: F046
Nodes: 417, Contours: 6
BBox: (0, 12) - (2741, 1252)
LSB: 0, RSB: 39, Width: 2780
Isb: 0, rsh: 39, width: 2741
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NN Index: 6, Unicode: FO47 Index: 7, Unicode: F048
A Nodes: 861, Contours: 30 Nodes: 218, Contours: 7
BBox: (0, 1) - (2842, 2022) BBox: (0, 2) - (2604, 1779)
LSB: 0, RSB: 39, Width: 2881 LSB: 0, RSB: 41, Width: 2645
Isb: 811, rsb: 849, width: 1221 || Isb: 931, rsb: 978, width: 736
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Index: 9, Unicode: FO4A
Nodes: 480, Contours: 8
BBox: (0, -9) - (3225, 1702)
LSB: 0, RSB: 40, Width: 3265
Ish: 705, rsh: 734, width: 1826
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/(F(j ? Index: 8, Unicode: FO49

\ /) Nodes: 572, Contours: 27
&5 Y BBox: (0, 4) - (1767, 2571)
I LSB: 0, RSB: 40, Width: 1807

Ish: 781, rsh: 825, width: 201
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Index: 10, Unicode: FO4B
Nodes: 74, Contours: 2

BBox: (0, 0) - (2201, 2140)
LSB: 0, RSB: 40, Width: 2241
Ish: 361, rsb: 407, width: 1473
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Index: 12, Unicode: FO4D Index: 13, Unicode: FO4E
Nodes: 323, Contours: 10 Nodes: 429, Contours: 16
BBox: (0, 0) - (3405, 1883) BBox: (0, -2) - (3136, 1793)
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Index: 11, Unicode: FO4C
Nodes: 450, Contours: 33
BBox: (0, -1) - (1906, 2200)
LSB: 0, RSB: 40, Width: 1946
Isb: 606, rsb: 650, width: 690
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LSB: 0, RSB: 40, Width: 3445 LSB: 0, RSB: 40, Width: 3176
Isb: 0, rsh: 40, width: 3405

Ish: 1019, rsh: 1067, width: 1090
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Index: 14, Unicode: FO4F Index: 15, Unicode: FO50
Nodes: 694, Contours: 19 Nodes: 209, Contours: 6
BBox: (0, -4) - (3206, 2073) —
LSB: 0, RSB: 39, Width: 3245
Isb: 0, rsh: 39, width: 3206

BBox: (0, 3) - (3321, 988)
LSB: 0, RSB: 40, Width: 3361
Ish: 79, rsh: 115, width: 3167
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Index: 17, Unicode: FO52
Nodes: 526, Contours: 20
BBox: (0, 3) - (3230, 2508)
LSB: 0, RSB: 39, Width: 3269
Isb: 583, rsh: 610, width: 2076

Index: 16, Unicode: FO51
Nodes: 1147, Contours: 120
BBox: (0, 1) - (3252, 1951)
LSB: 0, RSB: 40, Width: 3292
Ish: 121, rsb: 158, width: 3013
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Index: 18, Unicode: FO53 Index: 19, Unicode: FO54
Nodes: 271, Contours: 33 Nodes: 832, Contours: 11
BBox: (0, -2) - (2028, 2083) BBox: (0, 0) - (1900, 2422)
LSB: 0, RSB: 40, Width: 2068 LSB: 0, RSB: 40, Width: 1940
Ish: 728, rsbh: 793, width: 547 Isb: 0, rsh: 40, width: 1900
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Index: 20, Unicode: FO55

Nodes: 300, Contours: 6

————++ Y BBox: (0, 1) - (3344, 990)
LSB: 0, RSB: 40, Width: 3384
Ish: 59, rsh: 114, width: 3211

Index: 21, Unicode: FO56
Nodes: 2040, Contours: 59
BBox: (0, 0) - (1348, 1860)
LSB: 0, RSB: 40, Width: 1388
Isb: 0, rsh: 40, width: 1348
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Index: 22, Unicode: FO57 Index: 23, Unicode: FO58
Nodes: 1025, Contours: 12 Nodes: 716, Contours: 32
BBox: (0, -5) - (1462, 2452) BBox: (0, 0) - (3093, 1388)
S LSB: 0, RSB: 39, Width: 1501 LSB: 0, RSB: 40, Width: 3133
B Ish: 293, rsh: 334, width: 874 Isb: 0, rsh: 40, width: 3093
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Index: 24, Unicode: FO59 Index: 25, Unicode: FO5A
Nodes: 612, Contours: 21 Nodes: 178, Contours: 8
BBox: (0, 0) - (3400, 1205) BBox: (0, 0) - (3339, 837)
LSB: 0, RSB: 40, Width: 3440 LSB: 0, RSB: 40, Width: 3379
Isb: 0, rsh: 40, width: 3400 Isb: 126, rsh: 171, width: 3082
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